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1 1 Acacia 0 0.1

2 2 Acacia S.r I 0.13

3 3 Acacia 69 0 0.1

q t+ Acacia 69 0 0,1

5 5 Acacia 63 0 0.1

6 6A Acacia BBI 0.13 0

7 6B Acacia B0l 0,01 0

8 7 Acacia 90 0.13 0

9 I Acacia 99 o.257 0,03s

10 v Acacia BO 0.01 0

11 10 Acacia B9 0,13 0

L2 1L Acacia 89 0,13 0

13 t2 Acacia BB 0.13 0

74 13A Acacia 120 0.547 0,14

15 138 Acacia 89 0.13 0

15 14 Acacia 78 0.01 0

L7 15 Acacla 89 0.13 o

18 1b Acecia '7 -7 0.01 U

19 174 Acacia brt 0 0.1_

20 178 Acacia 63 0 0.1

27 18 Acacia 150 1.061 0.352

22 19 Acacia 74 0.01 0

23 20 Acacia 100 o.257 0.03s

24 21 Acacia 40 0 0.1.

25 22 Aca cia 88 0.13

26 23 Acacia 100 o.257 0.035

27 74 Acacia 82 0.13 0

28 25 Acacia 70 0.01 0

?9 ?.6 Acacia 75 0.01 U

30 27 /rcacia 67 0 0,1

51 28 Acacia 150 1.061 0.3 52

32 29 Acacia 84 0,13

33 30 Acacia 1.40 0.879 0,274

34 31 Acacia 100 o.257 0,03s

35 324 Acacia 83 0,13 0

36 328 Acacia 74 0.01 0

37 33 Acacia 110 0.396 0.085

381 34 Acacia 68 0 0.1

39 35 Aca cia t70 a,547 0,14

40 36 Acac a 68 0 0.1

411 37 Acac a
RN 0,01 0

421 3s n Acac a 7A 0.01 0

431 re s Acacia 68 0 0.1



) Acacia 90 0.13 C

Manlium 135 0.879

41 Acacia 58 0

Ltl 42 Acacia 110 0.395

48 43 Acacia 98 o.2s7

49 44 aracia 94 0,257 r, n?<

70 0,01 0
5C 45A Acacia

51 458 Acacia 94 o.?57 0 03s

52 46 Acacia 70 0,01 0

53 47 Acacia
OQ 0.13 U

54 48 Acacia 120 0.s47 I 0.11

55 49 Acacia 128 o.708 0.165

56 50A Acacia 65 o 0,1

57 508 Acacia 70 0.01 0

58 51 Acacia 110 0.396 0,085

59 52 Acacia 58 0 0,1

60 53 Acacia 110 0.396 0.08s

61 54A Acacia 71 0.01 0

62 548 Acacia 110 0.396 0.085

63 55 Acacia I roo o,257 0.03s

64 56 Aca cia B 0.01 0

65 57 Acacia 13C 0.708 0.165

66 58 Acacia 97 0.292

67 59 Acacia e9l O.2s7 0.035

b8 60 Acacia 961 0.257 c.035

69 61 Acacia 13ol o,7oB u..to>

70 62 Acacia 90 0.13 I o

73" 63 Acacia 70 0.0L l o

72 64 Aracia 75 0.01 0

90 0.13 0
73 65 Acacia

0.708 0.165
74 66 Acacia 130

80 0.01 0
75 67 Aracla

130 0,708 0.165
58 Ar^aria

108 0.396 0.085
77 69 Acacia

/d 70 A.acta 110 0,396 U

97 o.257 0.035
'74 7l Aca ci a

80 0.01 0
80 72 Aca cia
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